% 3 8

8 Fmk27% 1A 18
E F271412A31H

retroAFE# =4t

RREZETMEA1—-38—6




g F & B =R

(B6. M)
retroAFERER &4t TR27F12R318 B&
£ E 0 8 E o & B
¥ H * & # H € B
[FETE] [REBARK]
[(B& -FAE] [T AEH]
EL) & 188,064 * {+ ABH =t 0
T B #H = 1,967,027 | [fhiRENERE]
xI[E-TAEE B 2,155,091 H OB E A & 500,000
[55 L{E4E] i} n % 1,789,797
* 55 L{EME Bt 0 x ioE AN fROE 70,000
[(HREN & ] *fhmENaE 2,359,797
xHRENEE Bt 0 *nEBE &3 2,359,797
(iR B E E] [(BEaMR]
5 B0 B O £ 2,610,000 E B F A £ 918,820
xRBEE &t 2,610,000 *BEERE &5t 918,820
x* MENEE Bt 4,765,091 EE O & & 3,278,617
(BERE] mEE OO
[(EEEE E] [HEXEX]
*xBEETEEE &t 0| [EXE]
[ B F & E] & ¥ £ 3,000,000
*BELEECEE Bt 0 *xEXE AFt 3,000,000
(R EZDMhNDE E] [(EXFRE]
* IHEFOMDEE E 0| [EXERES]
*BEEEE &F 0 * EXRERE B 0
[(RERZE] * EXRFIRE B 0
*fREEE &5t 0| [FIFEFIRE]
[(FIEEFES]
* FmEFE B 0
[ZOMF | EEIRE]
BB TZERSE A1,513,526
* FOMFERIFTE 5 1,513,526
x FEEIRE &5 A1,513,526
*HEER BFt 1,486,474
EEOHRS 1,486,474
EEOS S5 4,765,091 EE-MEEDHSE 4,765,091




BRTEE

retroAFERR K &4t (8 FRi275£ 1818 E Elimtzm](?ﬁhéigg
[FLE]
| 5 73 = 1,493,574
LS &3 1,493,574
[5E LR{E]
FTLRE &5t 0
FE LT &= 1,493,574
[(REEER]
fREE —RERE &5 1,921,513
EEAR A427,939
[E£E5 )
g W A B 519
ExsAlRE E 519
6= £33 -4:2)|
EXNER &t 0
BERE A427,420
(% A1F4E]
2% B F = F 0
[(#RlEE]
¥ Al I8 & B 0
R DERE CRalE A427,420
EARERBRRUERR 70,000

L RR PR A497,420



retroAFERR 4L

S

clt

\

¢ RO REEENRE

(B FR27E 1818 E Fi{27£128318)

(B M)

SO Mo O I 3 D XKE B N

of w¢

th

S D B 1 S T 3

TR —REERR

B =
=

& =
&= =
=

=

=

m B
i

g

g M
=

&t

9,000
1,560
171,710
1,386,600
310,806
1,510
14,303
6.980
4,320
11,700
1,728
1,296

1,921,513




REBAELHHES

retroAFERRH &4t (B FR21F 1A 1B £ EFM##%%%E%
Ex® EFFRE FI IR = MEESE
FIXES 3,000,000 0 21,016,106 1,983,894
FiREgnEgEs 0 0 0 0
2 B A 0 0 A497,420 A497,420
SRAERE SEt 0 0 A497,420 A497.420
SRIRES 3,000,000 0 A1,513,526 1,486,474
LEDBIHREHLET
20/t 2R BH
KRERME o
\%)
A
A

EEMRER. VITNOBENORHETHICLEENZTT
£ A BH
BEE®



